
8 
REVISIONS | 

REV. DESCRIPTION DATE APPROVED 

A PR614 5-MAR-04 R B H 

D 

B 

SPEAKER WIRING 

230V/240V P/N 0064603000 

. ALL VOLTAGES MEASURED WITH RESPECT TO GROUND USING 
A DVM OF AT LEAST 1M AC INPUT IMPEDANCE AND 10M DC 
IMPEDANCE. VOLTAGES MAY VARY +/- 20%. TEST CONDITIONS: 
UNIT AT RATED LINE VOLTAGE 
4 n RESISTIVE LOAD CONNECTED AT SPEAKER OUT. 
ALL PANEL CONTROLS AT 50% ROTATION. 
BIAS SET TO ACCORDING TO NOTE 7. 
ALL DC VOLTAGES MEASURED WITH NO INPUT SIGNAL. 
ALL AC VOLTAGES MEASURED WITH A lOmVAC 1kHz SINEWAVE AT J3. 

5. LAST REFERENCE DESIGNATOR: C22, D1. J4, R49, RT1, V8. 

4. THIS SCHEMATIC IS FOR PCB FABRICATION P/N 0064415000 AND 
PCB ASSEMBLY P/N 0064416000. 

3. ALL POLARIZED CAPACITORS IN uF, 20%; 50V MINIMUM. 

2. ALL UNPOLARIZED CAPACITORS IN uF, 10% OR BETTER; 50V 
(POWER SUPPLY BYPASS CAPACITORS ARE 20%). 

1. ALL RESISTORS IN OHMS, 5%. 

NOTES: (unless otherwise noted) 

THIS DOCUMENT CONTAINS INFORMATION OF 

A PROPRIETARY NATURE TO FENDER MUSICAL 

INSTRUMENTS AND IS SUBMITTED TO YOU IN 

CONFIDENCE AND SHALL NOT BE DISCLOSED OR 

TRANSMITTED TO OTHERS WITHOUT AUTHORIZ¬ 

ATION FROM FENDER MUSICAL INSTRUMENTS. 

MUSICAL INSTRUMENTS 

jl Corona, CA U.S.A. 

CHECKED BY: TITLE:SERVICE DIAGRAM, COMBINED (schematic) 

57 TWIN 
DATE: 

APPROVED BY: 

DATE: 
SIZE DRAWING NUMBER REV. 

C 0064417000 A DRAWN: R. HAACK | ENGR: R. HAACK 

DATABASE FILE: Z614S.SCH RELEASE DATE: 05-MAR-04 | SHEET: 1 OF 2 

D 

B 

8 





3 2 





THIS DOCUMENT CONTAINS INFORMATION OF A PROPRIETARY NATURE TO FENDER 
MUSICAL INSTRUMENTS AND IS SUBMITTED TO YOU IN CONFIDENCE AND SHALL 
NOT BE DISCLOSED OR TRANSMITTED TO OTHERS WITHOUT AUTHORIZATION FROM 
FENDER MUSICAL INSTRUMENTS CORP. I BY | DATE/ARCHIVE ~ 

A 
a' 

SCREW ITEM 6 (CLAMP, CABLE) TO INSIDE 
SIDE WALL OF CABINET, USING ITEM 15. 

SCREW GROUND WIRE INTO ALUMINUM FOIL OF 
ITEM 2 (CABINET, UPPER BACK) USING ITEM 16. 

D 

SERVICE MANUAL DOCUMENT 
7/20/2004 

QTY 

CARTON INTER 57 TWIN (N.S.) 

HANDLE 9” LEATHER BROWN (N.S.) 

NUT KEPS 10-32 ZINC 

COVER, TUBE 57 TWIN 

SCRW TF 6-32X1/4 PHP Zl 
c 

MANUAL OWNERS 57 TWIN (N.S.) 

WIRESET END ITEM 57 TWIN (N.S.) 

TAG WARRANTY 5 YR FENDER-NEW (N.S.) 

TAG HANG 100% TUBE CIRCUITRY (N.S.) 

SVC DIAG COMBO 57 TWIN (N.S.) 

STICKER BUMPER FEND SINCE 1946 (N.S.) 

REGISTRATION CARD (N.S.) 

HANG TAG GROOVE TUBE (N.S.) 

EPERANFOAM R CORNER 4-3/4” (N.S.) 

EPERAN FOAM L CORNER 4-3/4” (N.S.) 

EPERAN FOAM CORNER 4-1/2x4-1/2 (N.S.) 

CARTON PUTTER 57 TWIN (N.S.) 

BAG POLY ZIP 10x13 2M (N.S.) 

BAG POLY BOX BTM 23x17x40 .002 (N.S.) 

BAG JIFFY #1 7-1/4x12 (N.S.) 

AMP COVER 57 TWIN (N.S.) 

PIN ESCUTCHEON #18x3/8 Nl 

SCRW HI —LO 6x1/4 PHPS Zl B 
SCRW PB 8x3/4 PHP Zl 

LABEL ALNICO WEBER 12” 

LABEL TUBE/SAFETY 57 TWIN 

NAMEPLATE 57 TWIN 

LABEL POP 57 TWIN 

SCRW M 10-32x3/4 THP Nl 

SCRW WOOD 6x1 OHP Nl 

SCREW M 10-32x1-1/2 THP Nl 

NUT KEPS 10-32 ZINC 

CLAMP CABLE NYL SCRW MNT 5/16 

NUT KEPS #8-32 ZINC 

SPEAKER ALNICO WEBER 12” 

CABLE ASSY SPKR RT ANG 13-1/2” (N.S.) 

CABINET ASSEMBLY 57 TWIN 

CHASSIS ASSEMBLY 57 TWIN 

DFT. ENG. ENG. 

APPROVED 

FENDER MUSICAL INSTRUMENTS CORP. 
CORONA, CALIFORNIA U.S.A. 

A 

57 TWIN 
END ITEM ASSEMBLY 

SHEET 

1 Of 1 
SCALE 

NONE 

SIZE DRAWING NUMBER REV. 

- D 8140500000 
MASTER/ASSEMBLY 

A 

8 7 3 2 


